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8.02x 102 atoms of carbon are equivalent to q..cu.uff}:l 6.02x108 L A
0. mole of carbon atoms £ 4tk 05 (B) 1.0 mole of carbon atoms LAl 1.0 (A)

0.1 mole of carbon atomsﬁyﬁc“d:‘ 04 (D) 0.2 mole of carbon atoms ﬁﬂ:lMJr 02 (C)
How many electrons can k-shell accommodate ? 32 (D) 18 (C) 8 (B) 2 (A) Tqﬁkﬁ/’?lfdw ko

The number of elements In third period is 32 (0) 18 (C) 8 (B) 2 (A WL(U”U-M/' - |
ALt sdids 4

Second and tird period of the long form of periodic table are called a @m
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By losing one electron Na atom attains the electronic configuration of .
Xe (D) Ar(C) Ne(B) He (A)

Absolutetemperature scale was Introduced by 'TJI/..LPL/&;}/J&”IHI ol
Chares Ly (0) Kevin Lk’ (0) Ruthetod Lbd (B) Bohe Lyl A
Molariy s the ﬁuml;érofmohes of solute dissolved n MJA:M#&M& 4

Onedmof the solvent Lﬁﬁ:‘b.,{}fm (B) One dm® of the solution drfk,qﬂ'fm (A
One em® of the solvent UEMLFU | (D) One cm® of the solution J;f)‘,é@@

Which one s an example of solution ?
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Which one of the following non-metal s lustrous ? ! +J{4mbwtff A

jodine i (0)  Sulphur #(C)  Graphite ugy/ (B)  Phosphorous 25 (A
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